


















https://twitter.com/DarkAndNerdy/status/1070690952472350720

https://twitter.com/DarkAndNerdy/status/1070690952472350720








# HELP http_request_duration_seconds request duration 
histogram
# TYPE http_request_duration_seconds histogram
http_request_duration_seconds_bucket{le="0.5"} 0
http_request_duration_seconds_bucket{le="1"} 1
http_request_duration_seconds_bucket{le="2"} 2
http_request_duration_seconds_bucket{le="3"} 3
http_request_duration_seconds_bucket{le="5"} 3
http_request_duration_seconds_bucket{le="+Inf"} 3
http_request_duration_seconds_sum 6
http_request_duration_seconds_count 3



















query: requests_total{path=~”(/status|/)”, method=~”(GET|POST)”}
{__name__="requests_total", path="/status", method="GET", instance=”10.0.0.1:80”}
{__name__="requests_total", path="/status", method="POST", instance=”10.0.0.3:80”}
{__name__="requests_total", path="/", method="GET", instance=”10.0.0.2:80”}







--query.max-samples

--query.max-concurrency







storage.tsdb.max-block-duration 









(
  instance:latency_seconds:mean5m
  > on (job) group_left()
    (
      avg by (job)
        (instance:latency_seconds:mean5m)
      + on (job)
        2 * stddev by (job)
        (instance:latency_seconds:mean5m)
    )
)
> on (job) group_left()
1.2 * avg by (job)

  (instance:latency_seconds:mean5m)

https://prometheus.io/blog/2015/06/18/practical-anomaly-detection/

https://prometheus.io/blog/2015/06/18/practical-anomaly-detection/


instance:latency_seconds:mean5m

>

(1.2 * avg_over_time(

    instance:latency_seconds:mean5m[24h] offset 5m)

)



predict_linear

predict_linear(node_filesystem_free{job="node"}[1h], 4 * 3600) < 0







https://juliusv.com/promslack/


https://landing.google.com/sre/sre-book/chapters/service-level-objectives/














(

  (

    sum(

     rate(

      latency_histogram{handler="gql", le="1"}[5m]

     )

    ) > 0

  )

  /

  (

    sum(

      rate(

        latency_histogram{handler="gql", le="+Inf"}[5m]

      )

    ) > 0

  )

) > BOOL .99

or

(

  1 +

  0 * sum(latency_histogram{handler="gql", le="+Inf"})

)



⇒

avg_over_time((

  (

    sum(

     rate(

      latency_histogram{handler="gql", le="1"}[5m]

     )

    ) > 0

  )

  /

  (

    sum(

      rate(

        latency_histogram{handler="gql", le="+Inf"}[5m]

      )

    ) > 0

  )

) > BOOL .99

or

(

  1 +

  0 * sum(latency_histogram{handler="gql", le="+Inf"})

))[7d:5m])




